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A.- Look at the table and complete the sentences with have got or has got or with the name of the characters:


1.- Bart ………… a bike.


2.- Marge and Homer…………. a car.


3.- Lisa ………….. a laptop.


4.- Homer…………. a comfortable sofa.


5.- Marge ………….. an umbrella.


6.- Bart …………….. a schoolbag.


7.- Lisa and Marge …………….. a laptop.


8.- ………….. has got a football.


9.- ………….. has got a book.


10.-…………. has got a pair of sandals.








We use the form HAVE GOT with the subject I, you, we and they while we use HAS GOT with the subjects he, she or it.


NEGATIVE STRUCTURE:  We use haven’t got or hasn’t got after the subject:


The Simpsons have got a big house. They haven’t got a castle.


Bart has got a bike. He hasn’t got a plane.


INTERROGATIVE STRUCTURE: We write have or has, the subject and then the particle got.:


Have the Simpsons got a house? Yes, they have.


Has Lisa got a car? No, she hasn’t





�


The Simpsons /a big House


( The Simpsons have got a big house


( The Simpsons haven’t got a big house.


( Have The Simpsons got a big house?


Bart / two sisters


Marge/ long hair


Marge and Homer/ three children


The Simpsons/ two pets


Lisa/ a saxophone





C.-Write affirmative, negative and interrogative sentences with have got





We use have got to express possession: 


Homer and Marge have got three children.


Lisa and Bart have got one sister.


The Simpsons have got two pets.


We also use have got to describe how people are physically: 


Marge has got long hair.


Lisa has got black eyes.


As you can see, have got becomes has got in the third person singular, that is, when we speak about a man, a woman, an animal or an object.








B.- Look at the table again and say if these sentences are TRUE or FALSE


1.- Marge hasn’t got a laptop.  ___


2.- Lisa has got a red car. ___


3.- Homer and Marge have got an  


    		 umbrella. ___


4.- Lisa has got a pencil. ___


5.- Lisa and Bart have got a bike ___


6.- Homer has got an armchair. ___


7.- Marge has got a pair of sandals. __


8.- Marge has got a blue umbrella. ___


9.- Homer has got a football. ___


10.- Bart hasn’t got an umbrella. ___


11.- Lisa hasn’t got a football. ___











